
x12
B x8

M8x80

C

1/14V1 02/2024

x12

x4

M8X60

DA E
x4

H=11,5cm

FG
x8

FF

M8x24x2

FG
x1

FH

#5 M8X25

x8
I

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

x2
J

2 X 35min

#5

FGFG
x2

REMOTE

x2K

FGFG
x2

REMOTE

IMOLA I, II, III BXB ELK
I II III

L
4 x x2

J

x2

J

x2
J

 

x2
J

JM



  2/14

Colli     Teil

1/4

2/4

3/4

4/4

1+4a+4a+6+5+7+7+8

2

3

4+4

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

2 X 35min

#5

IMOLA I, II, III BXB ELK
I II III

4

3

1

2

4

4a

6

5

7

7

D FGF

H

I J

K

I

F

L

F

A

FFFL

A

A

A
A

A A
A

A

L L L

8
I

F

L

F

A

FFF

L

A

A

A
A

A A
A

A

L L L

8
I

F

L

F

A

FFFL

A

A

A
A

A A
A

A

L L L

I

F

L

F

A

FFF

L

A

A

A
A

A A
A

A

L L L



  3/14

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

2 X 35min

#5

IMOLA I, II, III BXB ELK
I II III

I

II

III



2

4/14

55mm

B
x4

M8x80

2
3

LR

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

FGFG
x1

REMOTE

x1
I

G

I

2 X 35min

#5

F

ER

2

DC

x2J

x1
K

K

2
X2

x2

IMOLA I, II, III BXB ELK
I II III

1

E
x4

H=11,5cm

FG
x8

FF

F

E

L R

23

L
4 x

F

L

J

x2
J

x2
J

 

x2
J

JJ

6.

1.

2.

4.

5.

1. Place the reciver on the reciver carrier
2. Connect the reciver to the electrical mechanism
3. Connect two electrical mechanisms
4. Connect the elecetric mechanism with the adapter
5. Connect the power cable to the adapter
6. Plug the adapter into a 220V socket

O
K

IN

O
K

IN



2

5/14

55mm

B
x4

M8x80

2
3

LR

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

FGFG
x1

REMOTE

x1
I

G

I

2 X 35min

#5

F

ER

2

DC

x2J

x1
K

K

2
X2

x2

IMOLA I, II, III BXB ELK
I II III

2

L

R

2 3

F

J

x2
J

x2
J

 

x2
J

JJ

6.

1.

2.

4.

5.

1. Place the reciver on the reciver carrier
2. Connect the reciver to the electrical mechanism
3. Connect two electrical mechanisms
4. Connect the elecetric mechanism with the adapter
5. Connect the power cable to the adapter
6. Plug the adapter into a 220V socket

O
K

IN

O
K

IN

OKIN
K

OKIN

x2K

 

OKIN



2

6/14

55mm

B
x4

M8x80

2
3

LR

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

FGFG
x1

REMOTE

x1
I

G

I

2 X 35min

#5

F

ER

2

DC

x2J

x1
K

K

2
X2

x2

IMOLA I, II, III BXB ELK
I II III

R

2

F

J

x2
J

x2
J

 

x2
J

JJ

6.

1.

2.

4.

5.

1. Place the reciver on the reciver carrier
2. Connect the reciver to the electrical mechanism
3. Connect two electrical mechanisms
4. Connect the elecetric mechanism with the adapter
5. Connect the power cable to the adapter
6. Plug the adapter into a 220V socket

O
K

IN

O
K

IN

K

OKIN

OKIN

OKIN

OKIN

L

3



2

7/14

55mm

B
x4

M8x80

2
3

LR

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

FGFG
x1

REMOTE

x1
I

G

I

2 X 35min

#5

F

ER

2

DC

x2J

x1
K

IMOLA I, II, III BXB ELK
I II III

x2
J

3

OKIN

OKIN

R SIDE

R

2

JJ

K OKIN

OKIN



2

8/14

55mm

B
x4

M8x80

2
3

LR

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

FGFG
x1

REMOTE

x1
I

G

I

2 X 35min

#5

F

ER

2

DC

x2J

x1
K

IMOLA I, II, III BXB ELK
I II III

x2
J

OKIN

OKIN

R SIDE

R

2

JJ

OKIN



A

 

9/14

3

DC

x6
C

x6
D

M8x24x2

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

2 X 35min

#5

DC5

45mm

B
x6

M8x80

2
3

LR

FGFG
x1

REMOTE

X2

IMOLA I, II, III BXB ELK
I II III

B

 

PRESS 2X

X2

4
4.

5.

x2
J

x2
J

J

x2x2JM

M

X2
L=D

x2

M8X60

A

A

A



10/14

3

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

2 X 35min

#5

DC

FGFG
x1

REMOTE

X2

IMOLA I, II, III BXB ELK
I II III

PRESS 2X

4.

5.

6
L

EMERGENCY LOWERING

PAIRING

PRESS 2X

R

PAIRING

EMERGENCY LOWERING



A
x2

M8X60

A

x4

M8X80

B

5

 

11/14

7

B

B

B

TOP SIDE

BOTTOM SIDE

TOP SIDE

TOP SIDETOP SIDE

BOTTOM SIDE

x6
C

x6

D

M8x24x2

TOP SIDETOP SIDE

BOTTOM SIDE

1.

FGFG
x1

REMOTE

D

C

6

5

6

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

2 X 35min

#5

IMOLA I, II, III BXB ELK
I II III

8

TOP SIDETOP SIDE

BOTTOM SIDE
2.

3.

6 5

2

3



 

12/14

9

7

FG
x1

FH

#5M8X25

x8
I

7

I

H

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

4a

2X

2 X 35min

#5

IMOLA I, II, III BXB ELK
I II III

 

7

7

3

2



 

13/14

10

11

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

4

4a

2 X 35min

#5

IMOLA I, II, III BXB ELK
I II III



14/14

RU

HU ÖSSZESZERELÉSI ÚTMUTATÓ

INSTRUKCJA MONTAŻUPL

POKYNY K MONTÁŽISK

ASSEMBLY INSTRUCTIONSGB

PROCEDURA DI ASSEMBLAGGIOI

MONTAJ TALIMATITR

POKYNY K MONTÁŽICZ

HANDLEIDING VOOR DE MONTAGENL

INSTRUCTION D’ASSEMBLAGEF

AUFBAUANLEITUNGD

INSTRUCTIUNI DE ASAMBLARERO

инструкции за монтажBG NAVODILA ZA MONTAŽOSLO

MONTERINGSANVISNINGSUPUTSTVA ZA MONTAŽUHR

INSTRUCCIONES DE MONTAJEE

DIEGIMO INSTRUKCIJOSLT

UP 

DOWNDOWN

FGFG
x1

REMOTE

UP

G

2 X 35min

#5

MAX 1min. MAX 1min.8 min.
x1

K

x2
K

FGFG
x2

REMOTE

FGFG
x2

REMOTE

IMOLA I, II, III BXB ELK
I II III

 

12

1

1


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14

